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11 ODO0O0oobooon

UoOobOobOobob 0000 (sealar), DO0OODOODOOO0OO0OODOO (vector)
oo00.00b0obo0obo0ob0ob0ob0oboboboob0D A0boboboboobo
00000 AOQoOoooo.0ogo3goooooboobooooDoo,obboobooo
oooooobodey,k0000,0000 A0

A=A1+A7+ Ak
oo0o000.000 A,,A,A,0A00000O0.
() 0000 AO 2,4,200000000000 o,8,7000.0000
cos? o + cos? 3+ cos?y = 1
ogoooooooon.

20000 BOOOO A0DOOO B, By, B.O0O0O.000000000O0
ggbooogad.

A+B, A-B
(3) 000000000000000
A+B=B+A

000ooooo
(A+B)+C=A+ (B+C)

gobboobuoog,buogggbobuogoobbbooooobooo.
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1.2 DO0Oooood

oooooooo,0bopObObDOOOO AL, 0000000 sODODO.OP
OsO0000b0eO0O,OPO sOOOODODOOOPODOO.A0ODOOOOO
goobopOO0OOoOOoOOoOonoOD A,0000,

Ag = Acost
000.000 A0 sOO0OOOOODO.

() 0OOO ADDODOO ILmn 00 sO000000 A\u,ryO000. 00
00

cosf =N+ mp+nv

0000000000 @O00:0000 (Lmn) 00000 (A, puy)00
ooooo).

(2)
Ay = AN+ A+ A
OoooDOoOoooO.
(3) 0000 AD BOOO COOO.000O0O,
Cs = A + B
O0D000000. 000, A, B,,C, 00000 AB,C0O sO00D0O

go.

1.3 ODOoOooog

gbobobooboopbooboobogorPO,0PODOODOODODO.

(H OABODODOOODDODOODOODO e, db000. 0000 ABOO m:n0O
gogbbobuoooobbb-0004.

2) 0AB,COOODOUODOOOODOO a,b,cO00D0.0000O0O0O ABCO
g chooogbboguonn.
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14 DO00O0OOOoOooobooon

OABOOOUOOOUOOe,db000. A, BOODDODOODODODODOODODOO »0O,0
oo tgoong
r=a+tb-a)

good
r=(1—t)a+tb

ooooo.
(h O CcOObOoobOoo e0O0O.0 AB,CODOO0DODOOO,
la+mb+nc=0, I+m+n=0

goobooooooboooooobo LmynobOobObObDODODO
goo.

@ 0D AoBOOOOOODOOODOOD r0,00000¢:0000

r—t(a +b>
la| bl

gogooo,00bbp,quobbbuoooobb-0,00000 s,80
ggo.

gogbbooboagd.

r=sp+iq
goooo.

3) 0 A B, COUO0dbDboooooobooboog,
r=(1-—s—ta+sb+tc

gobbooodgbn.
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